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AN 2EH

HE: SSHUMBHTNRY
Chelr BETAAMET

- _ _ RE]
SN ED B (3H) - MEAY - BAS %@i
SHA XA =X 56,780 56,780
Olet&& s A& 55,080 55,080
301 Lt A= 55,080 55,080
05 S& -0|& -t sEA= 55,080 55,080
o0l &% 52,480
(OPIE=E=] 200,000& x16H ~12& 38,400
Oa=2 200,000 162X *23| 6,400
O3 o &M= 20,0003 x16H x23| x12& 7,680
Or& 4% 25,0003 52 23| 2,600
INE-R="P SN =N 1,700 1,700
203 SR F & 1,700 1,700
03 AIZH =X 2 =X H| 1,700 1,700
OXEEeE2AET S 20,000 x17H 53| 1,700
HAE2H A 54,399 54,399
JI2Z 8l (3l5H) 54,399 54,399
HAEFXAHH| 9,600 9,600
203 SR F & 9,600 9,600
01 JI22HYRFAH| 6,600 6,600
OJ|H2I L= 550,000 x12& 6,600
04 EANSI L RF=XH| 3,000 3,000
OFRMNSI LR 250,000 x12& 3,000
Jl2 &4l 44,799 44,799
201 gBt24d| 12,159 12,159
01 AR 22| H| 10,599 10,599
Ot =2H| 7,869
(OPIE=Er=1s] 4,595
— J| 2 A2 4| 30,000& x13H 390
— 2Bt 2 230,000 *13H 2,990
— ARE24L44| 40,000 »13H 520
— S A7 80,000& 358 240
— 23724 35,000& x13H 455
OA & &HI KX 3,274
— HASXH 300
— 2AJ 8 X Y| 400,000 x4 3| 1,600
e ES IR PN 100, 000& *23| 200
— A xJ|8 XY 200,000 23| 400
— T2l | XY 57,4003 *50H 23] 574
A E=PIESINE]] 200,000 = 1CH 200
O =&l 210,000 x13H 2,730
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AN 35
SH &

fral

M HH2FZH
>4 3|
o

CHE - EI(BA) - NRAY - BYS

=

i
2m

02 3224l 1,560 1,560
0332= € HAl 1,560
OJledses 120,000 =13 1,560

202 04l 32,640 32,640

01 SLHOYI 32,640 32,640
O=L0dtl 32,640
O2t L o4 bl 200,000& »13& 123 31,200
Ozt 2l oyl 60,000 «2H «128 1,440
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2 0FH
B wEedAy
¢elr Jl2ddl(0tegd)
SA - ZE-B(EA) - NRAY - B S il &t o il
04 NI 3,000 3,000
ORAN2EIRFAHI 250,000 128 3,000
Jl2ztl 44,674 44,674
201 Let24d]| 16,834 16,834
01 At 2teltl 9,475 9,475
O Et==EH| 7,165
O= &l 7,000 *30A x11H 2,310
02 232gl 7,359 7,359
O0z22= & HA 6,137
OAEZHI S X 1,222
202 odl 27,840 27,840
01 = LH o4 1l 27,840 27,840
O=L0 bl 27,840
O& ol 200,000& x11H«12& 26,400
Ozl 60,0003 «2H ~122 1,440
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N & 0l & At

Al

20148 & =204k LBHSIH DNES ~ HEH
2M: SollH
M ol HAIE B HI
SR EEE P (29l & 2)
= SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= off 217,632 202,371 15,261
S0 H AL Z HI 57,912 50,854 7,058
A=A 57,912 50,854 7,058
HEEEE L 57,912 50,854 7,058
101 @124l 53,432 47,074 6,358
04 J12tHI RS 53,432 47,074 6,358
O==stda & S#3FH AR 53,432
O2EsEA(12Ha) Ea 2 22l
41,6803 +2H 250 20,840
OsdusFH Fa 41,6803 *2H x160 13,338
OBULFEZ U A3 Il
41,6803 »2H x160 13,338
o5t 5,916
—3UHSREES 47,516,000& *4.5% 2,139
—MHEEZ 47,516,000& %3.8% 1,806
— AL EE =S 47,516,000 *2.67% 1,269
—1EEE= 47,516,000& *1.3% 618
—LoRAEEE 1,269,000& *6. 55% 84
201 LBH2Z| 4,180 3,480 700
01 At 2t 2l 1,560 1,560 0
oO3saTA FHEFX X 225 7Y
130,000 » 1200 2 1,560
02 =224l 2,620 1,920 700
o3saTa 2 1,920
O==s&E4A X =HE
60,0003 1200 2 720
OZ==&EA MHES 200,000 *6H 2 1,200
O A& ZHI S X 700
OlH0ISR SSAHELNSHEEIEX
350, 0002 *24 700
206 M= Hl 300 300 0
01 M2 4l 300 300 0
OE=2HZZIXTHd A +¢ 300
SHHIHHEXA2H 93,297 88,039 5,258
TR EHAFT 16,037 10,779 5,258
EALS R 2tel 16,037 10,779 5,258
101 @14l 2,168 1,910 258
04 JI2ZtHZ22 a2+ 2,168 1,910 258
OFANEIFHAQR 41,6803 «1H 52 2,168
201 £B-2dH| 8,869 8,869 0
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2M: SollH
B HY2YA
¢elr Jl2ddl(SaeE) (&)
SN HH-S(BN) - MBAY - B il HlnE2
02 2=22Z 4l 9,078 9,078 0
O333LAA 8,001
OoJIz2s3es= 1,560
OF A& E 5,000
ONskEE= 350
Oz = 150
ORER3 941
O A& EHl =Xl 1,077
202 oddl 32,640 30,240 2,400
01 = LH o4 1l 32,640 30,240 2,400
O=otl 32,640
O2 o bl 200,000& x13H x12& 31,200
O&2 ol 60,0003 x2H x12& 1,440
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N & 0l & At & Z Al
2014EE 2ol AP DHES ~ HRO
2H: AR
HH: HSHALYHINLY
Sl FOIOEHI ST SREED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
HEH 162,229 161,381 848
Heddddmgxa2dg 95,454 89,606 5,848
FOOtEHH A 18,144 12,296 5,848
A 2e] 18,144 12,296 5,848
101 Q124 4] 2,168 3,820 A1,652
04 JIANZ22XSE* 2,168 3,820 A 1,652
OFAL HIIE8A 22X UARY 41,6803 «52L 2,168
201 ¢4l 8,476 8,476 0
02 3324gHl 8,476 8,476 0
(©Fak=3] 1,500& =262l & 100 3,900
O Al ZHl =Xl 1,971
O&F A= X Hl 754m x2,614& 1,971
OXtef & et 2,605,000 *1CH 2,605
405 XtatE SHI 7,500 0 7,500
01 HAtH ESFH S 7,500 0 7,500
O=AMI 7L 7,500, 000 *1CH 7,500
A K2 A=A 77,310 77,310 0
orgrzas X 75,310 75,310 0
301 ger2d = 75,310 75,310 0
058 -0 -t¥as24= 75,310 75,310 0
CIURSE=, 72,160
OPIR==E = 200,000& x22H 123 52,800
o&n= 200,000& 22 *23| 8,800
Oz +g 20,0003 x22H «23| 12 10,560
OetE =g 25,000 «63H »23] 3,150
K ALMA =X 2,000 2,000 0
203 YR =&l 2,000 2,000 0
03 Al =&Y 2 =&Y 2,000 2,000 0
ORI LA F 20,000 *10E »52] 1,000
OX AL JdH A 20,000 10 »52] 1,000
HY 2 FHI 66,775 66,775 0
J=23H(ARY) 66,775 66,775 0
HIE =AY 9,600 9,600 0
203 ¥R =&l 9,600 9,600 0
01 122 YR 6,600 6,600 0
OJI22g YR =4H| 550,000& 12 6,600
04 REN2ELRZ=LH 3,000 3,000 0
ORNMSIYRFL 250,000& 122 3,000




2N
X ZH -
L= B

el

HEH
HH2HZH

J2dHH(NRYH)

SA-EB B (BH) - MRAY - B il

Jl23Hl 57,175 57,175

201 et A | 22,135 22,135

01 AFR2 2t 2l dl 13,250 13,250
O YBt+=gH| 10,310
OJI2 A2 4] 30,000& x14H 420
Odttx=5 230,000& *14H 3,220
OAREL4AH| 40,000& *14H 560
OZ P LHI 80,000& *35 240
O3l 35,000& x14Y4 490
O ALY =E&H] 5,380
O3] 7,000& #3048 x 144 2,940

02 352494l 8,885 8,885
O3323ZHtl 8,885
OPIE=E=r= = 585
OFANEIIZ 420,000 x12& 5,040
OooldsHEa 230,000& x12& 2,760
OXsieEs= 350
OdsEEHE 150

202 04| 35,040 35,040

01 2LHOHI 35,040 35,040
O=2LAHl 35,040
Oyl 200,000& x14H x12& 33,600
o220yl 60,0003 x2H x12& 1,440




